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Part II Listening Comprehension (25 minutes)

Section A

Directions: In this section, you will hear three news reports. At the end of each news report,
you will hear two or three questions. Both the news report and the questions will
be spoken only once. After you hear a question, you must choose the best
answer from the four choices marked A), B), C) and D). Then mark the
corresponding letter on Answer Sheet 1 with a single line through the centre.

R WHHAEEEEEF 1 LEE,
Questions 1 and 2 will be based on the following news item.

1. A) Christmas-time attacks made by Somali rebels.
B) An explosion at a bus station in central Nairobi.
C) The killing of more than 70 Ugandans in Kampala.
D) Blasts set off by a Somali group in Uganda’s capital.

2. A) On Christmas Eve. B) Just before midnight.
C) During a security check. D) In the small hours of the morning.

Questions 3 and 4 will be based on the following news item.

3. A) It is likely to close many of its stores.
B) It is known for the quality of its goods.
C) It remains competitive in the recession.
D) It will expand its online retail business.

4. A) Expand its business beyond groceries.
B) Fire 25, 000 of its current employees.
C) Cut its DVD publishing business.

D) Sell the business for one pound.




Questions 5 to 7 will be based on the following news item.

5. A) All taxis began to use meters.
B) All taxis got air conditioning.
C) Advertisements were allowed on taxis.
D) OId taxis were replaced with new cabs.

6. A) A low interest loan scheme. B) Environmentalists’ protests.
C) Taxi passengers’ complaints. D) Permission for car advertising.

7. A) There are no more irregular practices.
B) All new cabs provide air-conditioning.
C) New cabs are all equipped with meters.
D) New legislation protects consumer rights.

Section B ( omitted )

Section C ( omitted)

Tape Script of Listening Comprehension

Section A

Directions: In this section, you will hear three news reports. At the end of each news report,
you will hear two or three questions. Both the news report and the questions will
be spoken only once. After you hear a question, you must choose the best
answer from the four choices marked A), B), C) and D). Then mark the
corresponding letter on Answer Sheet 1 with a single line through the centre.

Questions 1 and 2 will be based on the following news item.

Kenyan police say one person was killed and 26 injured in an explosion at a bus station
in central Nairobi. The blast hit a bus about to set off for the Ugandan capital Kampala. Last
July, the Somali group al-Shabab said it was behind the blasts in the Ugandan capital which
killed more than 70 people. Will Ross reports from the Kenyan capital.

The explosion happened beside a bus which was about to set off for an overnight journey
from Nairobi to the Ugandan capital Kampala. Some eyewitnesses report that a bag was about
to be loaded on board, but it exploded during a security check. Windows of the red bus were
left smashed, and blood could be seen on the ground beside the vehicle. Just hours earlier,
Uganda’s police chief had warned of possible Christmas-time attacks by Somali rebels.

1. What is the news report mainly about?




2. When did the incident occur?
Questions 3 and 4 will be based on the following news item.

Woolworths is one of the best known names on the British High Street. It’s been in
business nearly a century. Many of its 800 stores are likely to close following the company’s
decision to call in administrators after an attempt to sell the business for a token £ 1 failed.

The company has huge debts. The immediate cause for the collapse has been Britain’s
slide toward recession, which has cut into consumer spending. However, the business had
been in trouble for years.

Known for low-priced general goods, Woolworths has struggled ir the face of
competition from supermarkets expanding beyond groceries and a new generation of Internet
retailers.

Many of the store group’s 25,000 employees are likely to lose their jobs. Some
profitable areas such as the DVD publishing business will survive.

3. What do we learn about Woolworths from the news report?
4. What did Woolworths attempt to do recently?

Questions 5 to 7 will be based on the following news item.

Cairo is known for its overcrowded roads, irregular driving practices and shaky old
vehicles, but also for its air pollution. In recent months, though, environmental studies
indicate there have been signs of improvement. That’s due in part to the removal of many of
the capital’s old-fashioned black and white taxis. Most of these dated back to the 1960s and
70s and were in a poor state of repair.

After new legislation demanded their removal from the roads, a low interest loan scheme
- was set up with three Egyptian banks so drivers could buy new cars. The government pays
about $ 900 for old ones to be discarded and advertising on the new vehicles helps cover
repayments.

The idea has proved popular with customers — they can now travel in air-conditioned
comfort and because the new cabs are metered, they don’t have to argue over fares. Banks
and car manufacturers are glad for the extra business in tough economic times. As for the taxi
drivers, most are delighted to be behind the wheel of new cars, although there have been a
few complaints about switching from black and white to a plain white colour.

5. What change took place in Cairo recently?
6. What helped bring about the change?
7. Why do customers no longer argue with new cab drivers?




Section B (omitted)

Section C (omitted)

Section A
1. B 206 3. A 4. D 5. D 6. A 7, C

Section B ( omitted )

Section C ( omitted)
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o SHTEIAY EEE A %5 (What is the news report mainly about?) : a bus explosion/a blast

o JRE R A A H A5 (Where did the bus explode?) : at a bus station in central Nairobi

o JRYE KA IFE] ( When did the explosion occur?) : during a security check

Mt what, where, when 4 H 9 [5] 81, FRATA W 104 BH R HUE 32 2205 5 /2 : The news
report is mainly about an explosion at a bus station in central Nairobi, the capital of Kenya.

B RV A 130 4a] 2L 9 ). R EEARGE T E S A RN, E A HAER
AR /R IR B P B M RS . B X T B 55, HOE T 2 50 ARl ge 22 ¢ 150k AR 2 51 T
e Rl o %20 AR B TE AN TE 4 DR 4 1 BB A B9 7 i, 40 DVD A7k, ABEXE G

o HiEl Ay EH N A (What do we learn about Woolworths?) ; the difficult situation

Woolworths has to face ( the close of its many stores, its huge debts, the
unemployment) and measures to solve the problem

o [RHEAY B HEDR A ( What was the immediate cause of Woolworths™ collapse?) : Britain’s

slide toward recession

o [H/RIK MR 25 1 53 (What did Woolworths attempt to do?) : to sell the business for

£1 but failed

o {l /R UK 7 #7 19 X% % ( What has Woolworths struggled to do recently?): to keep

profitable areas like the DVD publishing business

it [ %E what 53T JLASRIZ S, RO XMHEEOEEREAR TEREDN T #:
Woolworths is likely to close many of its stores due to Britain’s slide toward recession, but some
of its profitable areas will survive.

SR N 191 36 3k 0 A, IR B ER G TR Mot 2R A RGE « T RTR
KE#IT S SriE T AL BB M AL IH R ERAE ., BIERERA T80, X545
FBUR AHTRL - R AR 0TS L [H 2R L6 b B FELE SR8 AR, DSl al o A2 o T LAHIE S
MWD o LRSS FN TR BNV, RN HT 4 A 2% 8, TR AL AP 18 5 2055 A 2R DA RS AR A, L
T AT A G B i RIATL RO A= 04 L 5 A fim) (28 B 3 R IR AR 9 . FEZR BRIk
AT AIVR ZE o e A UGz L £, PR A R T DR

o By 2N % ( What is the main idea of the news report?) ; the change from old taxis

to new cabs

o Lt 47 k728 1k ( What caused the change?): new legislation, followed by such

policies as a low interest loan scheme, etc.

o JEE BN (Why has the change proved popular with customers?): feeling

comfortable in air-conditioned and metered cabs

o HFH % | ML K A5 BE (What is the taxis drivers’ attitude toward the change?) . feeling

delighted to drive new cabs

o 4T 7R ZE il 1 7 A9 /2 1 ( How do banks and car manufacturers respond to the

change?) ; being happy about the change as it brings about extra business

i %8 what, why, how 5RO R] , FRA TR R0 M A A T BGEMAY T i : A new
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legislation in Egypt has encouraged taxi drivers to replace their old cars with new cabs with air
conditioning and meters. The change has made customers comfortable and avoided argument over
fares. Drivers feel delighted in their new cars, and banks and car manufacturers are also pleasant
to earn extra profits.

2. HTE T
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i, O s RS AU B H RS I E 7 A LSS | B BRI, B AR R
28, 3)FER 2 RATVERIH MAGE , 2% I L H 417 8 LB E AR , an Ry 1454
PR 2L, W] RE MM . I, %R TR A 78 9 MR T AR, REA
PR ) HOBE R (B T4 AR S 2%, MW7 ) B R S AR R B IR . 4) R 3 A kAt
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FILER
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N =R RRT VT AR T 7 R, AR 1140 38) AR 2(130 ) 45t
T2 I, FERS 3(191 3A) 8 T 3 iEM. X 7 IE KRBT A R Rk

1) B 3 B KR, B LAY A BE B+ U, 40

What is the news report mainly about?

What do we learn about Woolworths from the news report?

What change took place in Cairo recently?
2) XS BN TS, B DA GAOULA £ R IR, An .

When did the incident occur?

What did Woolworths attempt to do recently?

What helped bring about the change?

Why do customers no longer argue with the new cab drivers?

. WS E RERIR TR

M 7 S BRI BOT XA, RATE LA S5 R SO R & E — 8, 802781k
A RS 6] SR R R, eI N A5 R SRR R R — B, il N

Question 1 [¥)Z%% %5 B) An explosion at a bus station in central Nairobi, %5 5 JF
Y% —47 an explosion at a bus station in central Nairobi {3834 & & —2,

Question 2 )& #%% 45, C) During a security check , iZ £ 5 i L5 — BY8E =47 but it
exploded during a security check fif 334 & B —3,

Question 3 )& #& %4 A) It is likely to close many of its stores, iZEDI 5 JF SCH 4T
Many of its 800 stores are likely to close {7 E —2, BTN FEMEEAZ, shialH
are A5 RY, is, BT 800 th 45 T, {H AT 31K 00 B B I oK R R L2 AR T AN [A]

Question 4 [{]Z# %4 4 D) Sell the business for one pound, % 3£ 5 JF 5 =47 an
attempt to sell the business for a token £1 R B —%. #1698 What did Woolworths

-7



attempt to do recently? FUBEJE 45 17 attempt 75 Ky 3hiaE , A E R to do BN B RA KA, H
J2/b T token —ia] , {HIf A5 M) ] A B

Question 5 & #£2% J D) Old taxis were replaced with new cabs , % %31 5 i 3C5 =
47 the removal of many of the capital’s old-fashioned black and white taxis (1 & B A | R —E
. BIRA A DEIER S 1L, 40 the removal of Bl ia] ia] 4] were replaced with 1t %, old-
fashioned black and white taxis faj{k >} old taxis ,{H {1 B E A 2E ., new cabs B 7E | 1fiH)
Tk B, B3 & 7€ I 3C improvement Hf fif {5 fi8 SO RIS BT AR AE Y .

Question 6 (24225 A) A low interest loan scheme , 1% 50 5 5 05 Bt —17 a
low interest loan scheme f3iA & B —2,

Question 7 [ ZF# &% F C) New cabs are all equipped with meters, 2% 21 5 J5 (5 =
Bt5E — 17 because the new cabs are metered 1 B Bl — B, £ 4R 5 3 meter J& 3 in] (are
metered ) , PEI HUEF I 1R) AR Ry 44 36 (are all equipped with meters) , {H & AR,
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In this part, there are 60 news reports. They are put into 20 groups from Group A to
Group T.

Group A

Directions: In this section, you will hear three news reports. At the end of each news report,
you will hear two or three questions. Both the news report and the questions will be
spoken only once. After you hear a question, you must choose the best answer from
the four choices marked A), B), C) and D).

Questions 1 and 2 will be based on the following news item.

1. A) 128 million. B) 28 million.
C) 17 million. D) 7 million.

2. A) The widely-used primary skills.
B) The increasing number of schools.
C) The well-educated African providers.
D) The development of educational technology.

Questions 3 and 4 will be based on the following news item.

3. A) A Swedish scientist and an Irish scientist.
B) A Chinese scientist and a Swedish scientist.
C) An Irish scientist and a Japanese scientist.
D) An Irish scientist and a Chinese scientist.

4. A) It is indeed a novel therapy.
B) It is a new treatment for cancer.
C) It has saved many people’s lives.
D) It has found a fatal virus.

Questions 5 to 7 will be based on the following news item.

5. A) Helping developing countries be active in the world economy.
B) Asking developed countries to donate more money to the poor.
C) Guiding poor countries to go through the financial crisis.

D) Calling for more partners into international organizations.



6. A)
B)
C)
D)

7. A)
C)

Greece has a very long history.

Greek economy develops slowly.
Greece has encountered a debt crisis.
Greek population is decreasing sharply.

It meets ups and downs. B) It is sliding very sharply.
It has hit the highest point. D) It is recovering slowly.

Group B

Directions: In this section, you will hear three news reports. At the end of each news report,

you will hear two or three questions. Both the news report and the questions will be
spoken only once. After you hear a question, you must choose the best answer from
the four choices marked A), B), C) and D).

Questions 1 and 2 will be based on the following news item.

1. A)
B)
C)
D)

2. A)
C)

More Indian women can fill the top positions.
India has more women than men in companies.
India seeks more women on corporate boards.
More Indian women like to do business work.

115. B) About 400.
About 150. D) 174.

Questions 3 and 4 will be based on the following news item.

3. A)
B)
C)
D)

4. A)
B)
C)
D)

The mayor of Paris is keen on cycling on the streets.

A survey was held in 2014 to encourage people to ride.

Cyclists in Paris will be allowed to ride through some red lights.
Cycle lanes will be widened according to the city plan.

They will let the flow of cycle traffic go smoothly.
They will benefit French people in their health.
They will promote more consumption on bikes.
They will become more acceptable to the youth.

Questions 5 to 7 will be based on the following news item.

5. A)
B)
C)
D)

The meaning of the lunar new year.
China’s various traditional cultures.
Chinese famous artist Huang Yongyu.
The new stamp of Chinese Monkey Year.
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6. A) To celebrate the upcoming of the lunar new year.
B) To give all the stamp lovers a double treat.
C) To attract people to collect the newest stamps.
D) To make the artist’s stamp design more popular.

A) Drawing a cartoon monkey mother.

-1

B) Drawing two baby monkeys instead of one.
C) Selling the new stamps as early as possible.
D) Selling the new stamps by all the post offices.

Group C

Directions: In this section, you will hear three news reports. At the end of each news report,
you will hear two or three questions. Both the news report and the questions will be
spoken only once. After you hear a question, you must choose the best answer from
the four choices marked A), B), C) and D).

Questions 1 and 2 will be based on the following news item.

1. A) £9.98 billion. B) £2.38 billion.
C) £8.77 billion. D) £31 billion.

2. A) The cost will be three times over budget.
B) The huge rise is due to wrong estimation.
C) The initial cost was estimated at £ 1.6 billion.
D) Total costs will be paid by the Olympic committee.

Questions 3 and 4 will be based on the following news item.

3. A) Drinking coffee does harm to one’s health.
B) Researchers usually love to drink black coffee.
C) Researchers tend to drink a cup of hot coffee a day.
D) Drinking coffee can help one live longer.

4. A) It can help one think quickly and clearly.
B) It can protect against all diseases.
C) It can make people put on weight.
D) It can do a lot of good to one’s memory.

Questions 5 to 7 will be based on the following news item.

5. A) A church charitable activity in Washington D.C.
B) A free removable clothing closet for poor people.
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C) A school bus only used by poor children.
D) A food truck called “Bread of Heaven” .

6. A) In spring. B) In summer.
C) In autumn. D) In winter.
7. A) $200. B) $2,000.
C) $ 200, 000. D) $ 20, 000.
Group D

Directions: [In this section, you will hear three news reports. At the end of each news report,

you will hear two or three questions. Both the news report and the questions will be
spoken only once. After you hear a question, you must choose the best answer from
the four choices marked A), B), C) and D).

Questions 1 and 2 will be based on the following news item.

1. A) 75%. B) 35%.
C) 10%. D) 20%.

2. A) People with social intelligence. B) People with creative ideas.
C) People with low income. D) People with high salary.

Questions 3 and 4 will be based on the following news item.

3. A) 1,005,540. B) 1,005,504.
C) 1,105,540. D) 1,105,504.
4. A) Greece. B) Italy.
C) Spain. D) Malta.

Questions 5 to 7 will be based on the following news item.

5. A)
B)
C)
D)

6. A)
B)
C)
D)

The start of America’s holiday shopping season.
The lower unemployment rate in the United States.
The shrewd American retail outlets and businessmen.
The average consumption level of all Americans.

Instant information helps them find deals easily.
People nowadays own tablets or smartphones.
They have a long shopping season to surf the net.
Rising wages guarantee their purchasing power.



